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1. The following diagram shows the budget lines faced by a consumer last year and
this year.

Good Y
/This year’s budget line

Last year’s budget line

Good X

Which of the following is (are) true?

(A) The consumer's income fell.

(B) The absolute price of good X rose, and the absolute price of good Y fell.

(C) If the consumer purchased basket B last yeat and purchases basket C this year, we
can conclude that the consumer's tastes changed between this year and last year.

(D) If the consumer purchased basket Bdast year and purchases basket C this year, we
can conclude that the consumer's indifference curves cannot be convex.

(E) If the consumer purchased basket D last year and basket A this year, they could be
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2. Which of the following is {are) true?

(A)The substitution and income effects are in opposition when the price of an inferior
good changes.

(B} If the price of a non-Giffen good falls, then the income effect causes a rise in the
quantity demanded.

(C) All Giffen goods must be inferior goods, but not all inferior goods are Giffen
goods.

(D) Consider a usual shape utility function only: the substitution effect insures that
anytime there is a change in the price of a good, the quantity demanded along a
compensaied demand curve also éhanges.

(E)The income elasticity of demand is equal to the slope of the Engel curve.

3. Which of the following statement(s) is (arc) true?

(A) If the total benefits received from drug enforcement exceed its total costs, then the
government should expand its drug enforcement activity.

(B) Higher fixed costs may cause a firmm to shut down its operations but will not
otherwise affect its production and pricing decisions.

(CYWhen faced with a rent increase, the firm's best policy is to use a small price

increase to compensate for some, but not all, of the loss.

() When the price of fabmic falls, it does not benefit a clothing manufacturer to lower

its prices since that will only reduce its profit margin. jg.’h‘ fj




BAEERENTWEFERIHER L L RNAE
#8 BReiP ga% 1 135
£ 7 Bz% 2 R

4, The following questions refer to the diagram below. The wage rate is assumed to be

$12 per hou, the rental rate is assumed to be $6 per hour, and capital is assumed to be
fixed in the short run at 10 hours.

Capital

_. Expansion Path

15

107 - @ = 60 Units per Week

Q = 50 Units per Week

t § f t Labor
5 10 15 20

(A) The short-run average cost of producing 60 units of output per week is $5 per unit
(B)The long-run total cost of producing 60 units of output per week is $180

(C)By comparing the two points on the expansion path, we can conclude that this
technology exhibits decreasing returns o scale!

(D) A firm's SRAC (Short Run Average Cost) curve is tangent to and lies above the
LRAC (Long Run Average Curve) curve. )

(E) A firm’s SRAC is greater than LRAC,which forces the LRAC curve to be upwar:
sloping.

5. Consider the effects of a sales tax imposéd on consumers. The initial price and
quantity are Po and Qo, respectively. After the tax is imposed, the equilibrium quantity
is Q1, firms receive the price Ps, and consumers pay the price Pa.
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(A) After the tax is imposed, consumers' surplus is eqﬁal to area B,

(B) Area C + D +F + G is the tax revenue collected by the government.
(C) After the tax is imposed, social gainisequalto areaB+ C+F+1-1.
(D) Afier the tax is imposed, the deadweight loss is equal to area E + H. #‘ .
(E) Prior to the sales tax, Producer surplus was F+G+H+1+]
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6. The following graph shows the supply and demand for military service.

Wage
5.

D
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Quantity of
Q l\r[ilitar;yService

(A) Suppose the government relies on a volunieer army of size Qo and pays soldiers
the wage wo. Then area A + C represent the opportunify cost of the volunteers'
service.

(B) Suppose the government relies on a volunteer army of size Qo and pays soldiers
the wage wo. Then area A + C represent the rent-earned by the soldiers.

(C) Suppose the government relies.on a voluntesr army of size Qo and pays soldiers
the wagé'wo. Then area A + C represent|the opporfinity cost of the volunteers’
service.

(D)Suppose the government drafis (0 persons mto the'army and pays them the wage
wl. In this situation, the area B + D underestimates the cost of the army to society.
(E) Suppose the government drafts Qo persons into the army and pays them the wage
w1. In this situation, the area B + D overestimates the cost of the army to society.

7. Suppose Mr A’ s Utility function is min{G/2, V}, and I, Pg, and Pv refer to his
income and market price for G and V, respectively. Which of the following is (are)
true?

(A) When the prices of G and {or) V change, Mr. A will respond by altering the ratio-
of G/V he consumes

(B) Mr. A’ demand for Vis ———.
Pg+2Pv

21
2Pg+Pv
(D) Mr A’s indirect utility function is I*(2Pg+Pv).
(E) Mr A’s expenditure function is V*(2Pg+Pv)

(C) Mr. A’s demand for G is

BAE
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8. The demand curve in Sector 1 of the labor market is Ly=a~b W The demand

L,

curve in Sector 2is L2 =€~ W Tpe supply curve of labor for the entire market is

L=e+fw 1 equitibrium, Litla =L,

Which of the following is (are) true?

{A) with no minimum wage, equilibrium wagew ={(a+c—e)/(b+ad+ 1)

{B) with no minimum wage, equilibrium employment at sector 2, L2 =c—d{a+c—
eY(b+d+1)

(C)When we impose the minimum wage (¥) in Sector 1 (“the covered sector™) only,

equilibrinm wage w2 =(a+c—e-bw)/(d+1)

(D) When we impose the minimum wage (£ ) in Sector 1 (“the covered sector™) only,

the labor demand for sector 2 isthat L2 =c —d(a+ ¢ — e~ bw)i{d + f).
(E) When the minimum wage ¥ applies to the’@ntire labor market, the employment

equilibrium is that L=a+ ¢~ (b + d)w.

9. There are many buyers who value high=guality|used cars at the full-information
market price of $1000 and lemons at $500. There jare @ limited number of potential
sellers who value high-quality cars'at V1<1000 and lemens at V2<500 (V 1>V2).
Everyone is risk neutral. The share of lemons among 2!l the used cars that might
potentially be sold is 1/2. Let P be the most buyers are willing to pay for a car of
unknown quality. Which of the following (is) are true?

(A P=700

(B) If V1=990, V2=450, then all cars are sold.

(C) If V1=760, V2=450, then only lemons sold

(DD} If the share of lemons among all the used cars that might potentially be sold is 1/4,
then it is possible that all cars are sold

(E) This “Lemon” problem was first introduced by Joseph Stiglitz, the 2001 Nobel
Prize winner in Economies.

10. Which of the following is (are) true?

(A) Compensated demand curve is always steeper than the uncompensated desnand
curve.

(B) If prices in all markets are very low, then there will be excess demand in al]
markets.

(C) In 2 two-person two-good Edgeworth economy, all points on the contract curve
are Pareto efficient and can not be blocked.

(D) If the divorce law requires “bilateral agreement”, then the “property right of
marriage” is assigned to the person who first proposes the divorce,

(E) People might still invest in education even though education has no effect on

one’s productivity. 3}% R ﬁ
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11. RERSEE, FEEERLR RS, BERRIRRERS:

@ =50— P1/2=
FHRATIRRRE:
g2 = 100 — py,

ping AABERATRE. ¥ ¢ ARTORBAEE, ¢ = ¢ + o FHRRE
WEE TC(q) = ¢ FALHEDRRBLRE, ENREETWAS. k@D

HHERTEEEEREA LR,

(A) BETEHBBEAEER: MR(g) =100 — 4¢,

(B) B&TBNERKNEES: MR(q)=50—q

(C) LIERTSHEREARES: MR(g) =100 — ¢

(D) LEEHSESE M ATERS: MR(g)=200— 0

(B} Bl bgdE

12, AEE. ReREEN ¢ SUEBERMTEREALARA TR(), & MR(g) =
dT'R(q)/dg.
Ay qa=¢/2

(B) @ =q/3

(C) MR{g) =100 —¢/2

(D) MR(g) = 100 — 4¢/3

(E) BALEFE

13, AHEFHES, RBEHRHEERRMALR, SRPEBELRER, TYHES

BE? (mu SEERKT, AHSORRERREHESE,)

{A) pu<p2

(B) p1 = pq

(C) m<mn

(D) Th=T12

{(E} ¢=30

14. LIF normal form 28/ G F, A H u.d WEEMER, B Lr HiEEH
SR, SENAERERETL (2) EEFES A (B) NIEH,
l I T

ull2 21
dj4l 1,0

A P E R Nash B,

(A) (u)
(B) (ur7)
(C) {d, 1)
(D) (d,r)

(E) BLE&F

!




BIEBXEA T wRFREFELHBELRNKAE
#B EREEE

Ak - 135

% 7 Rz% 4 R

15, AEWE. TR—FEFNER H: ARE s MEF B FAZE AR

% B #THNMNENER G. & A 2 t, RANERNES 3, BEREER, 5%
EER H & subgame perfect equilibrium, THAHESE?

(A) A %2 s

(B) BEFERR G, A 8% u
(C) EEAERE G, B &R
(D) A $5HIE3

(E) B BEHIS1

16. X MHSHAENS: U= Ju—e¢ w BHEA, e BABHEE. X B
Y IfF, BEHEEB e =5, ER Y THESH. B X THE Y B%
B R TREE, B1/3HBERSS90, 2/30HE 5360, YV ERI A0
BAS608E, £ X WHASRIR we 8wy, BB, X HEEHRENE: BU =
V/3 + 2./ /3 — 5, X EERBIRAL A, HEETEKFE.

\

A

(A) X WERSSMEE A Bk
(B) X MERinisi LE B Frk
(C) X BiFERK

(D) X RERE

(B) BhEsEd

17. REAE. X FETHERE, FAEMETS Y T w=c=0, Y SAK
37 (risk-neutral), Y EBRKEBHE (Br = ER — wa/3 — 2wy /3) BK. F
MY Bt EiaiReT, TAMEERY
(A) X BEREZHM EU < 0
(B) We > Un
(C) W = Uh
(D) Bwr =40
(E) Ex =50

BLE
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18. ZBHRANE. &Y BRE X BEHEE c HH5ERT6, Bl X TIEFil
ABESOORTETIRINE2/3, BI0NBEREL/L.EY BER2BEE X
FITiE, X BREENE e B51EAE6, RE X A8, Y BEEH. AU Y H
X BEHEEEERS e 2 WY, REEMZA, BRA R €. EHFRRT, TH
1 ERE?

(A) Bur=wy, Ml X BB e=5
B)&Hyom—yui=1LHXEEFe=5
(C) # Vi — =2, M X BB e=6
(D) Y HBEZHT, wy = wy

(E) ¥ B9RERHH, wy < wey

19. a.b MAR{E, £B8#E 10 EUHEE (private good) 3, ERETEER
%, AUETSHREA R (public good) &, T FEH R EEHER.
o HEBHREYE: Uy = 29,0 B08: U, Sap?, £ g,y SHASEHR
EREVHEE. ST HREY BHEEHRE Pareto EE?

(A) 97:.9,31:1:41 yb:'?r

B z=9, =T m=4
(C) z=9,y, =55, %=55
D)z=8ya=4 =28
(E) 2=8,4.=8 =4

20. ZENE, OF o.b FEREEEERSEVHIRE, § 1.2, DRERHR
AREMECHE, AIAXHEER v =2, + 7. &% MRS,.MRS, BWA
AN REneRE B BEE, MRS, = |dy./dx|, MRS, = |dy/dz|.
%% Nash 9% (1., ), THIHERE?

{A) MRS, > MRS,
(B) MRS, = MRS,
(C) MRS, < MRS,
(D) MRS, + MRS, =1
() MRS, + MRS, > 1
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